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& |KEAFURE (pH) 5~9 5~11 5~9 5~11
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E FilEYEE (SS) 600 — 600 —
7
’E} IR AFHUMEMESEE (8hihEE) 5 20 5 20
2 JINAFTHUHEMEESE E (BEYRIEEE 30 — 30 —
x |E3FHRE 220 - 220 -
ARIVLBRUVZDIEEY 0.03 0.03 0.03 0.03
TEEY 1 1 1 1
EEYAILLEY 1 1 1 1
MREVZEDIEEY 0.1 0.1 0.1 0.1
B AN A= (A=Y 0.2 0.2 0.2 0.2
= |MRERVZDIEEY 0.1 0.1 0.1 0.1
;ﬁ KIBRUVZDIEED 0.005 0.005 0.005 0.005
D Z}b#)bmﬁﬂﬂsé‘% BitshgOCE[REIhANCE[BHShEWNZE | BHEEALENIE
X IR [ d=pE =% 0.003 0.003 0.003 0.003
5 rJZonTFLY 0.1 0.1 0.1 0.1
% TESOO0IFLY 0.1 0.1 0.1 0.1
by SHOOiay 0.2 0.2 0.2 0.2
e [HELRR 0.02 0.02 0.02 0.02
- M -2—>/00T3Y 0.04 0.04 0.04 0.04
% 1-1—>900TFLY 1 1 1 1
~ [PR=1-2=SHOO0xIFLY 0.4 0.4 0.4 0.4
—E 1-1-1—kJoyOo0IT 2> 3 3 3 3
& 1-1-2—k)70 =R 0.06 0.06 0.06 0.06
z 1-3—2/007AaKXY 0.02 0.02 0.02 0.02
> |FoTL4A 0.06 0.06 0.06 0.06
Z RO 0.03 0.03 0.03 0.03
% fd’f\:yﬁ)w 0.2 0.2 0.2 0.2
Sz 0.1 0.1 0.1 0.1
” LU RUVZEDIEEY 0.1 0.1 0.1 0.1
- FORKUVZDIEED 10 10 10 10
% SORKRUVZDIEEY 8 8 8 8
2 14— FHD 0.5 0.5 0.5 0.5
T J1/— )L 5 — 5 —
K HARUZDESY 3 3 3 3
FIMRUVZDIEEY 2 2 2 2
BROZDIEEY CRREM) 10 — 10 —
IUAVROZDIEEY CREETE) 10 — 10 —
YO LBRUVZDIEEY 2 2 2 2
FAXX5E 10pg/2 10pg/Q 10pg/Q 10pg/Q
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